Does Michael Faraday's Law of Induction concern itself with the conversion (consumption /
conservation) of alternating (A/C) power or with the generation of alternating power?

| think it is the former. The latter condition of the synthesis (generation) of power is a
standing wave which cannot dissipate, ie. it cannot exit the circuit as: heat, or light, or
mechanical motion of a coil unless it is first converted. But for this conversion to occur, it
can no longer exhibit a standing wave pattern in which its phase of voltage and its phase
of current are diametrically opposed in polarity (with 180° of separation between them).
Instead, in order for conversion to occur, it must realign the phase polarities of its voltage
and current to exhibit a maximum power factor to manifest, and maximize, the output of
this conversion of power. Otherwise, the standing wave pattern will force a constant build
up of reactive power which will, eventually, destroy the circuit which hosts this condition.

Hence, Michael Faraday's Law of Induction is a narrow niche, for it merely defines the
consumption of power while ignoring its generation.

Energy is always moving, ie. undergoing changes, but standing waves of energy do not
move. Their energy moves, yet their wave pattern does not move.

It is only a moving wave pattern which can be conserved. Everybody is so focused on the
conservation of energy while ignoring the non-conservation of their standing waves. For, it
is their patterns, not their energy, which defines the consumption or the generation of
power.

Here is the data in the format of screenshots of the simulation of a circuit in Micro-Cap —
which is a flavor of Berkeley SPICE authored by Spectrum-Soft... 1
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10m Ohms equivalent series
resistance for each capacitor.
312.5 Ohms of resistance

on transformer is 10 AWG.
4H & 4 Ohms on L3 & L4

are using 25 AWG, each.

Zero Watts in 22 min on L3 & L4.
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L3 and L4 are separate mo-
tors. They cannot be on

the same motor, for they
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gear approx. and 1 = reltol
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nodiodes2dZ OFF .CIR

1.00E-38

BDDESQ --------------------------------------
Shorting out each capacitor|sparkGap|capacitor
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SYNTHESIS IS ON
60%, 1:1
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10m Ohms equivalent series
resistance for each capacitor.
312.5 Ohms of resistance

on transformer is 10 AWG.
4H & 31.25 Ohms on L3 &

L4 are using 34 AWG, each.

S1W4+H100W in 272 minutes on L34L4.

Al s
11
1l
11
11
FRLS

L1 L2
«1.2n »

1

INCREASE THESE 2 CAPA-
CITORS FOR MORE POWER

A4 h—I

100f 100f

heon bulb

L3 and L4 are separate mo-
tors. They cannot be on
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U005 7g 7540 53.80 3820 117 60

150.00
120.00
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000570 2940 53.80 3820 117 60 147 00
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45.004-
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nodiodes2d? ON.CIR

12500
T 144,698 8081
50 QO H------mmmmm oo e e e e -
0 DD11588.DDDm,3.225E-38I """" i e Fomoooomoomoomomsoomosooooes R |-
000 2940 5880 8820 117 60 147 .00
Left Fight Delta Slope
Elv(L3)*(L3) 3 226E-38 80811 80811 561.145m
T(Secs) 588 000m 144 598 144 010 1.000
5000 - -eeemmeeemmm oo EBRRREEEEEEEEEEEES R RRSRREEEECITEEEEEEEES R RREEEEREEEEEEEEEEEES e :
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A Y 3514E-38 99039 99039 BE7 723m
T(Secs) 588 000m 144 598 144 010 1.000
15000 : - -
6000} .
. . . - [
0.00 . 58 80 8820 117 60 147 00
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o S I
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T(Secs) 588 000m 144 598 144 010 1.000
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A80 00m nodiodes2d2 OM.CIR
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480 00 : nodiodes2d2_ ON.CIR : |
12,3_ng_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIEIIIIIIIIIIIIIIIIIIIIIIIIIIIIII;IIIIIIIIIIIIIIIIIIIIIIIIIIIII%IIIIIIIIIIIIIIIIIIIIIIIIIIIII;ﬁIIIIIIIIIIIIIIIIIIIIIIII'_ ]
'QDHDmD.DD 2940 5880 8820 117 60
Left Fight Delta
LWL FIiL ) 1.361E-41 339 844m 3329 844m
T (Secs) 164 614m 144 595 144 433 .
300.00m . ; ; 1
T5_ng_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIEIIIIIIIIIIIIIIIIIIIIIIIIIIIII];IIIIIIIIIIIIIIIIIIIIIIIIIIIII%IIIIIIIIIIIIIIIIIIIIIIIIIIIII;:IIIIIIIIIIIIIIIIIIIIIIII'_ !
'T5'DDmD.DD 2940 58 80 8820 117 60
Left Fight Delta
LWL 21l 2) 5 021E-43 188477m 188477m
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15000 : : : : l
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4700 S — R — R — e ~ |/
S| —— oo Fo e R EREEELEETEEEEEEED Pom e |144.598,-2U2.D§
CTE0.00 2940 5880 8820 117 60 147 .00
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1.00m - M — — — _— —_—_— ————— - l"
D_Q5mCIIIIIIIIIIIIIIIIIIIIIIIIIIIIIEIIIIIIIIIIIIIIIIIIIIIIIIIIIII]?IIIIIIIIIIIIIIIIIIIIIIIIIIIII%IIIIIIIIIIIIIIIIIIIIIIIIIIIII?CIII"_II_'IIIIIIIIIIIIIIII}II
: : : : |
'0'25”1[].[][] 2940 5880 8820 117 60 147 .00
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LIV(CE™I(CE) -1.387E-38 0.000 1.387E-38 9601E-41
T (Secs) 164 614m 144 595 144 433 1.000
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1000.00T
750007
S00.00T
250.00T
0.00T
-250.007

1.20E15
9.00E14
6.00E14
3.00E14
0.00EDO
-3.00E14

600.00T
450,007
300.00T
150007
0.00T
-150.007

s00.00T

200.00T

-200.007

nodiodes2d2 OR.CIR

0.00 2940 58 80 5820 117 60

VIC3TIICE)

0.00 2940 58 80 5820 117 60 147 00
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VICATIC)
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1000007 = : : :
250.00141 A= R R """"""""""""""" """""""""""""""" """"""""""""
_25D'DDTD.DD 29 4[] 18 BD 58 2[] ’l’l? B0
Left Fight Delta
EBIV{C3rIC3) 217TE-24 B107BZ2T B10762T
TiSecs) 1176 144 5398 143422
1.20E151 : :
3-DDE14:i'::::::::::::::::::::5:::::::::::::::::::::::::::::::::%::::::::::::::::::::::::::::::::-
_S'DDEMD.DD 2940 880 858.20 117 .60
Left Fight Delta Slope
LIW(C2)(C2) 1 466E-25 7 .H36E14 7.H36E14 H533E12
TiSecs) 1176 144 5398 143422 1.000
600.00T . . :
15D_DDT:i_:::::::::::::::::::E::::::::::::::::;:::::::::::::::::%::::::::::::::::::::::::::::::::::'
15000 5 2040 58.80 88.20 117 60
Left Fight Delta
CIWV(CA* (T4 0.000 401 5827 401 5827
TiSecs) 1176 144 5398 143422 .
80000T————— — — -
QDD_DDT:Ef::::::::::::::::::::::::E:::::::::::::::::]:::::::::::::::::::::;:::::::::::::::::::::::::::;::::::::::: _____ \
-200.00T 5 5 29.40 58.50 88.20 117 60
Left Fight Delta
LIVICEFI(CE) 2 BB9E-24 518.8058T 518.805T
TiSecs) 1176 144 5398 143422



Nodal Voltages for X1 subcircuit, macro (Micro-Cap).

NEON BULB, SPARK GAP MACRO
.PARAMETERS(VTHRES=90, VARC=10, ISUS=500M,RNEG=-1,LPL=130N,RPL=2K,CPAR=1P,CARC=3P)

V1 R5
0 10

L witchchk
300710 0567 69-829] J_

10p

E2
IF(ABS(V(PIN1,PIN2))>V(THRESH),10,IF(ABS{l(V1))=I1SUS,10,10N))

V(SWITCH.PIN2Z)"V(SWITCHCHK)

= =
E9 @ @ E4d HELP VTHRES "Voltage at which the spark-gap strikes”
o - .HELP VARC "Voltage across the spark-gap once struck”

ABS(V(DVDT)) .HELP ISUS "Sustaining current under which the arc is stopped”

.HELP RNEG "Negative resistance once struck”
.HELP LPL "Lead/electrode inductance”

.HELP RPL "Lead/electrode resistance”

.HELP CPAR "Gap capacitance”

.HELP CARC "Arc capacitance”
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1.00

0.00

-1.00

30.007T

12.00T
0.00T

16.00

-32.00
-64.00

500.00n

200.00n
0.00n

15.00

6.00
0.00

nodiodes2d2_ON_X1 CIR
0.00 2940 58 80 58820 117 60 147,
VI RIFICCLRT)

0.00 2940 58.80 5820 T17 60 147
VX R2FIT R2)

0.00 2940 58 .80 58.20 117 60 147,
VX1 R3VIC R3)

0.00 2940 5380

VX RAVIT R

0.00 7940 58 80

VX 10) (W) o
2Cs

00

Node X1.10 tells us if this spark gap is ON if it equals ~10V. If ~10nV, then OFF. 14



1.00

-1.00

30.00T
0.00T

16.00

-64.00

500.00n

0.00n

1%.00
0.00

nodiodes2d2_ON_x1.CIK

0.00 2940 5880 8820 117 60 147 .00
Left Fight Delta Slope
LIV R1FICAT R 0.000 0.000 0.000 INF
T (5ecs) 144 929 144 929 0.000 1.000
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII:2222222222221144.929,21.382
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIE:IIIIIIIIIIIIIIIIIIIIIIIIIIIIIE:IIIIIIIIIIIIIIIIIIIIIIIIIIIII;IIIIIIIIIIIIIIIIIIIIIIIIIIIII;IIIIIIIIIIIIIIIIIIIIIII;_I)F?*.
0.00 2940 5880 8820 117 60 147 .00
Left Fight Delta Slope
BV 1LR2IK1L.RZ) 213827 213827 0.000 MF
T (5ecs) 144 929 144 929 0.000 1.000
0.00 29?40 5880 117 60 147 .00
Left Delta Slope
LIV R3FIKT.RE) 0.000 0.000 MF
T (5ecs) 144 929 0.000 1.000
EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE:FEEEEEEEEEEEEEEEEEEEEEEEEEEEiEEEEEEEEEEEEEEEEEEEEEEEEEEEiEE
0.00 2940 5880 8820 117 60 147 .00
Left Fight Delta Slope
LIV R4 R4 6.400n 6.400n 0.000 IMF
T (5ecs) 144 929 144 929 0.000 1.000
0.00 2940 5880 8820 117 60 147 .00
Left Fight Delta Slope
CIW1.10) (W) 9583 9583 0.000 MF
T (5ecs) 144 929 144 929 0.000 1.000



240 00M : podmdeSEdE_DN_}{’l .CIFE: :
BD.DDM:::::::::::::::::::§:::::::::::::::15:::::::::::::::%:::::::::::::::::::fr::::::::::::71-
-60.00M 355 2940 58 80 5820 117 60 147 00
VO CIPI.CY)
&7500Mp—
T -, —— ¢
1010
-79.00M 375 29 .40 58.80 5320 117 60
VX1 G210 .C2)
A00.00m : : : :
mgmm::::::::::::::::::::::::::::::::::,'::::::::::::::'_:%_"::::::::::::::::::::::L::::::::::::::::
-100.00m 37353 2940 5880 | 117 60 147 00
VO DI DA
3.00m : : : :
0.75m L:::::::::::::::::::::::::::::::::,:::::::::::::::'I_::_':::::::::::::::L::::::::::::::Z;
-0.75mM 358 2940 58 80 117 60 147 00
VX1 D2II0K D2)
1500 —— — — —
5,00 -1 N
0.00 ' ' ' |
0.00 7940 5880 5820 117 60 147 00
VX1 10) (V)
TiSecs)
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nodiodes2d2_0OMN_x1.CIK

MdoooMye,—— =
'BD'DDMD.DD 2940 5880 8820 117 60 147 .00

Left Fight Delta Slope

LIV CFIR . C 1) 2.144E-34 155.324M 155.324M 1.059M

T (Secs) 2894 000m 147 .000 146 706 1.000

6?5'DDMiIIIIIIIIIIIIIIIIIIIIIIIIIIIIIEIIIIIIIIIIIIIIIIIIIIIIIIIIIIIf:IIIIIIIIIIIIIIIIIIIIIIIIIIIII?IIIIIIIIIIIIIIIIIIIIIIIIIIIIIEZIIIIIIIIII|14F_DDD|455_9?1r-.,.-1

2N = [ o V) e e e eeeeeeefefeefaefeiefeil fsfefufeielsie e e -

-7 00mE
0.00 2940 5880 8820 117 60 147 .00

Left Fight Delta Slope

Bl 1L.C27Mx1.C2) 1 408E-42 465 97 1M 465 97 1M 3.176M

T (Secs) 2894 000m 147 .000 146 706 1.000

4DD.DDm;_____________________________:______________________________|_____________________________; ___________________________________________________________

T 0 0 i 0 |
'MD'DDmD.DD 2940 5880 . 117 60 147 .00

Left Fight Delta Slope

LIV D1 D1 707350 -8 723E-41 -570.7350 -3.890u

T (Secs) 284 000m 147 000 146 706 1.000

oo T

I:::::::::::::::::::::::::::::i:::::::::::::::::::::::::::::::::::::::::::::::::::::::::::'*_::_ '::::::::::::::::::::::::::::::::::::::::::::::::::::;:,
'D'HmD.DD 2940 58 .80 . 117 60 147 .00

Left Fight Delta Slope

LIV D20 D2) 2707390 G965 3030 125 5640 895.891n

T (Secs) 2894 000m 147 .000 146 706 1.000

1500 T T T

D'DDD.DD 2940 5880 8820

Left Fight Delta Slope

CIW1.10) (V) 10.000n 9829 9529 67.000m

T (Secs) 2894 000m 147 .000 146 706 1.000
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4.00E-18
200E-18
0.00E0D
-2 00E-18
-4 00E-18
-6.00E-18

nodiodes2d2_ON_x1.CIK

0.00 2940 58 80 5820 117 60 147 00
VO LAV L)

6.00m
4.00m
2.00m
0.00m
-2.00m
-4.00m

0.00 2940 58.80 88.20 117 60 147 .00
01 V1) (A)
12.50m : : : :

e
e B I S S T
0] 1] S — ——,_—_— e e, e -
7 S -

U.00ma53 7940 53 80 53820 T17 60
VOGN G 1)

15.00

] S L S T

-------------------------------------------------------------------------------------------------------------------------------------------------

D'DDD.DD 29.40 58.80 8820

VEL10) (V)

147.00
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4 00E18 r?odmdeSEdE_DN_}{’l .CIR; :
-2 00E-18
'B'DDE'1BD.DD 2940 5880 8820 117 60 147 .00
Left Fight Delta Slope
LW LRI L 1.786E-18 0.000E0Q -1 786E-18 -3 099E-20
T (Secs) 89 368 147 .000 57 632 1.000
6.00m
T s s S A —
'4'DDmD.DD 2940 58 80 8820 117 60 147 .00
Left Fight Delta Slope
LI W1 (A -4 9241 -3.268m -3.263m -6 6120
T (Secs) 89 368 147 .000 57 632 1.000
1250'“ _________________________________________ [147.000 9.765m)
5_ngIIIIIIIIIIIIIIIIIIIIIIIIIIIIIi;IIIIIIIIIIIIIIIIIIIIIIIIIIIII%IIIIIIIIIIIIIIIIIIIIIIIIIIIII;:E_IIIIIIIIIIIIIIIIIIIIIIIIIIIi;IIIIIIIIIIIIIIIIIIIIIIIIIII'_
""""""""""""""" e N O (== e = = T [N 4= ] R
D'DDmD.DD 2940 5880 8820 117 60 147 .00
Left Fight Delta Slope
ElvX1.G1IK1.G1) 10.782p 9.765m 9765m 169 4350
T (Secs) 89 368 147 .000 57 632 1.000
wo—————— L —
e S | R A\ A S
0.00 - - — ’
0.00 2940 5880 8820 117 60 147 .00
Left Fight Delta Slope
CIW{A1.100 (W) 10.000n 9999 9999 173.505m
T (Secs) 89 368 147 .000 57 632 1.000
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Nodal Voltages for X2 subcircuit, macro (Micro-Cap).

NEON BULB, SPARK GAP MACRO
.PARAMETERS(VTHRES=90, VARC=10, ISUS=500M,RNEG=-1,LPL=130N,RPL=2K,CPAR=1P,CARC=3P)

R5

avitchchk
c3 J_

V(SWITCH.PIN2Z)"V(SWITCHCHK)

= =
E9 @ @ E4d HELP VTHRES "Voltage at which the spark-gap strikes”
o - .HELP VARC "Voltage across the spark-gap once struck”

ABS(V(DVDT)) .HELP ISUS "Sustaining current under which the arc is stopped”
.HELP RNEG "Negative resistance once struck”
HELP LPL "Lead/electrode inductance”
.HELP RPL "Lead/electrode resistance”
.HELP CPAR "Gap capacitance”
.HELP CARC "Arc capacitance”
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250E-25

1.00E-25
0.00EDD

25007

10.00T
0.00T

50.00M

-100.00M
-200.00M

20.00u

8.00u
0.00u

15.00

6.00
0.00

nodiodes2d2_OMN_X2 CIR
0.00 29 40 58 80 5820 117 60 147 .00
VX2 RIVIKZRY)

0.00 2940 58.80 5820 T17 60 147 00
0.00 2940 5880 58.20 117 60 147 00
V(X2 R3JI(X2 R3)

0.00 7940 53 80 53820 117 60 T47 00
V(X2 RAVIZ R4

0.00 7940 5880 5820 117 60 147 00
V(X2.10) (V)

TiSecs)



nodiodes2d2_OMN_x2.CIK

I e . Y
e et St bbbl Sl uiuiutats N
D'DDEDDD.DD 2940 5880 8820 117 60 147 .00
Left Fight Delta Slope
LIWVix2 R1TFIX2 R 1) 0.000E00Q 0.000E00 0.000E00 INF
T (Secs) 144 929 144 929 0.000 1.000
25'DDTIIIIIIIIIIIIIIIIIIIIIIIIIIIIII:IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII:IIIIIIIIIIIIIIIIIIIIIIIIIIIII.'IIIIIIIIIIIII|1J‘14.929,1_B-;§2|
D'DDTD.DD 2940 5880 8820 117 60 147 .00
Left Fight Delta Slope
Bl (<2 R2FIX2 R2) 189327 189327 0.000 MF
T (Secs) 144 929 144 929 0.000 1.000
5000 - -
-200 00k
LIV 2 R2FI(%2 R3) 0.000 0.000 0.000 MF
T (Secs) 144 929 144 929 0.000 1.000
o0 T, -
T T o o T
0.00u -
0.00 2940 58 .80 8820 117 60 147 .00
Left Fight Delta Slope
LIViX2 RA®™I(X2 R4 0.000 0.000 0.000 IMF
T (Secs) 144 929 144 929 0.000 1.000
1500 ey —
DDDEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE.EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEiEEE;é*_'EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE::;::
000 2940 5880 8820 117 60 147 .00
Left Fight Delta Slope
LIViX2.10) (V) 9702 9702 0.000 MF
T (Secs) 144 929 144 929 0.000 1.000



25000 podmdestE_DN_}{Q.ClR:
oo A ————
-200.00535 2940 58 80 5820 117 60
VK2 CAVIKZ.C1)
2.35K :
oo S E——
150K 5 a0 29 .40 58.80 5820 117 60
V(X2 C2PIX2.C2)
3 00EQ4
T-5UEQ3:::::::::::::::::::i:::::::::::::::*E:::::::::::::::::::::::::‘E:::::::::A::::%:::::::::::::::
-7-50E93 5755 2940 58 .80 58.20 117 60 147 00
3 00ESS
7 50E84
-150ES4 58 2940 58 80 5820 117 60 147 00
V(X2 D2VIX2 D2)
1500 —— — — —
B_DD::::::::::::::::::::::::::::::g::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::;/::::::::::::;::::::::v:::::::::::::::
0.00 ' ' ' |
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The following figures, FIG. 25 and FIG. 26, demonstrates how power is generated most of
the time. Only occasionally does it react in the opposite (positive) direction to absorb,
convert, and get rid of, this excess energy by spiking in the positive polarity once in a
while.

So, causality has not been broken if we examine all of the components of a circuit over the
entire duration of its run-time!
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